
Activo corriente 638.165.418        

Pasivo corriente 683.162.744        

Pasivo total 750.333.328        

Activo total 17.349.898.756  

Capital de trabajo                 = Activo cte - Pasivo cte = 638.165.418        - 683.162.744  = 44.997.326-          

Patrimonio                              = Activo - Pasivo = 17.349.898.756  - 750.333.328  = 16.599.565.428  

SGC - Financiera 

Instituto Distrital de Protección y Bienestar Animal

Indicadores Financieros 

sep-20

Liquidez                                    =                      93,41 

Nivel de endeudamiento = 4,32%

MR - Financiera


